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T, fry OS taT TOQ a di 

Sd, Z TOS+Z S0Q= 180° 

T 2SoQ=2 SOR +2 QOR 

TOP +/POG = 180° (1) 

:, 

37, qHtsT (2) À 

L TOS+ L SOR+2 QOR = 180 
374, HtrT (1) 3ir (3) I_À r 

TOP +L POQ+2TOS +2 SOR +2QOR = 360 
L TOP + 2TOS = L POS À 

T 

3:, FuTT (4) À 

L POQ+2QOR + L SOR +2 POS = 360 
s 

Prove 

TTaci 6.1 

ct 
LAOC+ Z BOE = 70° RLBOD = 40° , aZBOE 3 faaai2 COE aa tfyi [NCERT Exercise] 

B 

D 

fa, POQ UT IaI fTU OR TET PQ R TaTI f6T 
OP 3 OR OS T R fTuIfHs iS-

7 , TaT XY 3 MN fag O Jf Ei aft 
Z POY = 90° a:b=2:3, c TT I 

NCERTExercise] 

2. 

ROS= (2Q0S-2 POS) [NCERT Exercisel 

fR 
S 

P 
6. T f f ZXYZ= 64°3 XY fagP a¢r7 T N 

3. fa7 af 2 PQR= £ PRQ $, fa fay fs 
L PQS = L PR'T? 

HTEHfA &, XYQ 3Rr yfaai z QYP A T 
tfgI [NCERT Exercise] [NCERT Exercise 

7. 

(ü) 

D 

RT 

(ii) faz i, af *ty=w tz, M frT Ffg fs AOB t 
[NCERT Exercise] 

. 
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15T 7 7, AB, CD T41 PQ Ai TET fa0 HUTAT dI 

f LAOp= 5y, 4Q0D =2y BOC=5y , ay 

04 P 

-a I HT 180° 36 T 360° 54 ? 

2. 

17T 
16. 

STHA , AB, CD H TET T4T OP, 0Q 4: 

LBOD TI LAOC Ts trar ë, Fa zRigr s fuI OP 
3 

84° 

E 

3TRHICT 
1. 30, 250 126 4. fr THt Ui 1 qM= 360° 2. 

5. 2Q0S = ZSOR + ZROQ 3T POS = ZPOR -2SOR 

6. 122, 302 
8. u 11. 108°, 72 

15. 16 
9. 10. 57 12. 126 

13. 48° 
14. *= 48°, y = 21°, z = 84° 

6.5 HHITR ren str fs rET 
Parallel Line and Transversal Line) 

HHTFR TETT (Parallel Lines) 

tET FHTATTT (parallel) HT a TETi 

41, 22, 47 R 28 TE UT (exterior angles) d 
L3, 24, 45 3it L6 3 a (interior angles) EA I t aT (Transversal Line) 

(a) t UT (Corresponding Angles)-fat% taI 
tartanssi m 3sit n HT: fa-gai P sit Q sf 

(a) 21 T 45 b) 22 a4T 26 
u fa zifs 47HR 1, L2, .., L8 ATHT 

()L4 T L8 d) 23 TT 7 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

